30.12.2023 FIRE OPERATOR CUM DRIVER HSSC EXHOM

- 1.

CO, is
(A) lighter
(B) equal

(C) heavier

than air.

(D) lesser
(E) Not attempted

What is the colour of LPG ?
() Blue

(B) Red

(C) Colourless

(D) Light red

(E) Not attempted

can be used in flammable

atmosphere.

(A) Electrical lamps

(B) Safety lamps

(C) Hurricane lamps

(D) Portable electric box lamp
(E) Not attempted

Fire involving in combustible solid
classified under fire.

(A) Class A
(B) Class K
(C) Class B
(D) Class D
(E) Not attempted

Which stinging agent is added to LPG ?
(A) Mercaptan

(B) Ketones S

C) Musky  Eka
(D) Floral

(E) Not attermpted

CG - FO23

1. CO, g I gem | 2
(A) Behl
(B) SR
(D) % B
(E) STSnfira

2. LPG I U1 #1818 ?
M) fem
(B) <Tiet

(D) geehl oicd
(E) 3Tomya

3. T IUAT AN aTdTERer o
fopan S wehe 21
(A) forsreft & ofu
_B) T <
(C) THM i
(D) TIeH Seifdesh wigd oig
(E) TS

4, SgomEie o H Wit I W
3T % T8 Sfishd fohal T B
) = A
(B) = K
(C) =t B
(D) ¥ D
(E) TR

5. LPG U sH-u fRfi wie fiyemman s @ 2
(A) e
(B) e
(C) HEhl
(D) el
(1) 3o
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are generally used for 6. _____ ¥ I FHAR WA ngﬁ
delivering water. E foru fepam wman 21
(A) Percolating hose (A) TUHA aTet B
(B) Suction hose __AB) 9E B
(C) Non-percolating hose ‘ (©) -2 aTedl B
(D) Unlined hose (D) Rfad B
(E) Not attempted (E) 3SR

High velocity system used for extinction 7. IR W St § T g fo1q

of fires in flammable liquids having a

I T WOt St 39T fepat e & vkt
flash point above = 1%"5" ¥ o B ) =
A) 65°C (A) 65°C £ C
(B) 75°C (B) 75°C
(C) 100°C ”’t{ - /(9)/1/0000
(D) 90°C 5 “(D) 90°C
(E) Not attempted (E) TSR
The three principles of extinguishment 8. I A ol W Wit yuredt | 37 Tﬁﬁ
in the high velocity?vatef spray p.rojector ¥ a9 ﬁ‘m @'F\Eﬁ'ﬁ?%ﬁ'r—[, e 3R
systems are emulsification, cooling .
and 2|
(A) exposure (8) TR
(B) prevention (B) Ushm
(C) extinction m el
(D) dilution (D) STeeq@H
(E) Not attempted : (E) TR
Approach suit provide heat protection 9. Wd ¥ Tmmiy T Yeq
upto A |
(A) 93°C (/M 93°C
(B) 260°C (B) 260°C
(C) 65°C (C) 65°C
(D) 100°C (D) 100°C
(E) Not attempted (E) 3T
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14.
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How do you copy a string in C Program ?
(A) Using the = operator
(B) Using the strcat() function

(C) Using the strcpy() function

. (D) Using the strncpy() function

(E) Not attempted

In the CO,extinguisher, CO, is retained
in a liquid condition at about
bars pressure.

(A) 25 B
(B) 51 /

(C) 41

e o
(E) Not attempted R

The diameter of the hose reel is normally
(A) 10 mm (B) 19 mm

(C) 36 mm (D) 50 mm

(E) Not attempted

The Human Development Report is
published annually by

(A) IMF

(B) IBRD

(C) UNDP

(D) UNESCO

(E) Not attempted

, +
The integrating factor of dy +y = Ity is
dx X
eX
(A) xe* W/; Cd /\lj
x .
(C) xell? (D) o

(E) Not attempted

CG - FO23

10. C WM # fopet fgm 6 it g 6
ST B ?
(A) = 3T T 3TN Hh
(B) strcat() B I ITFT Hlh

e strcpy()wwmm

(D) strncpy()wwmﬁ
(E) 3Tomfea

11. CO,3A=MH § CO, T CIk
GeTd S T e H o+ Wl B |
(A) 25
(B) 51

©) 41
(D) 61
(E) 3Tvmrad

12. B9 01 o 9 99 8 e
{A) 10 mm (8] 19 mm

(C) 36 mm (D) 50 mm
(E) 3TRmfea
13. e e fae forass g aiiay v
EQIS Gl
(A) STETHTH
(B) TSRS
(C) Tt
A
(E) TSR
14. %+ _Q%WW%
(A) xe* (B) g
X
(C) xel/? (D) ei
(E) 3msrfa

- , /3/5"\ ]

d‘)lg +d ﬁt) . o \




16.

17.

18.

19.

Join Telegram Group "HaryanadJobs.in"

Who was the First President of United
States ?

(A) Thomas Jefferson

(B) George Washington

(C) Truman

(D) None of the above

(E) Not attempted

is a lowest temperature
at which a material will emit vapor
combustible in air mixture.

(A) Flash over (B) Fire point

(C) Flash point (D) Flash up

(E) Not attempted

Which of the following are non-
flammable gases ?

(A) C,H,, CH,

(B) H,, C,H,,

(C) CO,, SO,, N, o
(D) C,H,, C,H, [

(E) Not attempted

Fittings used for joining two lengths of

hose together or to an apparatus are
called as

(A) Couplings (B) Diffuser
(C) Branch pipe (D) Nozzles

(E) Not attempted

The Code of Practice for fire safety of
buildings exit réquirement as laid down
in the

(A) IS-1644 : 1988

(B) IS-1654 : 1988

(C) 1S-1532 : 1990

(D) IS-1650 : 1988

(E) Not attempted

CG - F023

15. Eg TSI SN & Tgel Tgafd o1 & 7
A) ITE TR
By it nfire
(C) g
(D) 3 § 9 I3 7
(E) 3T9TEa

16. T e aEE g e | e

e gar & fyywr § Sgesiie arST &
IS T © |

(4) ®iw AR (B) 1 fig
IRV WEE (D) W 3
(E) 3SR

17. Tfafed § @ s-d) —saemsia
g 7
(A) C,H,, CH,

3782
(B) H,, CH,
ACY CO,, SO, N,
(D) CH,, CH,

(E) 3rs=nfaa

18. I OIS % B I U T AT el S
& e 3 forg s 1 ST et £

arfet et & T e 21 Yoy
it fraffta foam g |
(A) IS-1644 : 1988

(Bf 15-1654 : 1988

(C) 1S-1532 : 1990
(D) 1S-1650 : 1988
(E) TR
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suit helps the fireman to
work very close to the flames.
(A) Proximity suit
(B) Entry suit
(C) Approach suit
(D) Jacket suit
(E) Not attempted

In degree celsius, water
change into solid state.

(A) 100 (B) S

(C) O (D) 2

(E) Not attempted

In SQL (Structured Query Language),
refers to differences within the
group or set of data of a variable.

: (A) Range
* (B) “Agcuracy

(C) Standard deviation
(D) Validation
(E) Not attempted ;\;E&%E}:

. ORING)
Saraswati Wildlife Sanctuary is
situated in district of Haryana.
(A) Kurukshetra
(B) Hisar
(C) Karnal
(D) Kaithal
(E) Not attempted

Find the odd man out.
(A) 4774

(B) 363

(C) 4174

(D) 3773

(E) Not attempted

-6-
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TS BT I 3T H TRl H
95 B HH B § 7eg HAT 8 |
(A) wfeamfe e
(B) T Tqe
Acy 3T e
(D) ke HE
(E) 3Toamiyd

20.

21. foift afcaae ¥ arft 31 e 4
Fed AT 2|

(A) 100

(B) 5
(D) 2

SQL (WFaE warl o) & fpeft
=R % TR AT I & AT F Wiqw 3w
Heflfa & 3 |
(&) ©
(B) &tehan
e e ferare
(D) EeaToH
(E) Tw=nfad

gEmn & _ e o greadt g
Razg

(a) pea

(B) feam-

+(C) Ul

(D) et -

(E) TSR

(29) wen ot 0 R

(A) 47747
(B) 363

Mdf
D) 3773

(E)
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A buildings in height shall
be considered as high rise buildings.

(A) 15 m or above

)
(B) Below 15 m .
(C) 14 m el
(D) 12 m

)
(E) Not attempted
The maximum size of the gas cartridge
is gram for a 9 litre
water extinguisher.
(A) 10 (B) 120
(C) 60 (D) 180
(E) Not attempted

Which among the following is toxic gas ?
(A) Argon

(B) Sulphur dioxide

(C) Helium

(D) Carbon dioxide

(E) Not attempted

knot used as sling to lower
unconscious persons.
(A) Bowline (B) Reef knot
(C) Half hitch (D) Chair knot
(E) Not attempted

The heat which is absorbed during

change of state from solid to liquid is
called

(A) Liquefied stage
(B) Inhibition

(C) Fire suppression
(D) Latent heat

(E) Not attempted

CG - FO23

25. SOE T UH ARG __ &l Sl A
& B9 H HHET ST |
S 15 m 1 3R FW
B) 15m ¥ =
(C) 14 m
(D) 12 m
(E) T9miaa

9 et AR Tl & fyw g Hifdst
Afehan

IHR_ ymE

26.

(A) 10 120 il

(C) 60 (D) 180 "i,//
(E) 3Tvanfag

27. Fmfafad § & Sg-off weteht o 2 2
(A) 3T

BT e STEatiaTEs
(C) etfererm .
(D) e Sr3TiaaTsE :l?‘;%‘%
(E) ﬁ EE‘:..-'E

28.

e 1 T Jg safa oA (0
H o fore feam o &9 4 fopan St 8 |
(A) SRS (B) {w i
(D) =R e
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31.

32.

33.

34.
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Industrial buildings of low and moderate

hazard are permitted only upto ___

height.
(A) 18 m (B) 20 m
(C) 25m (D) 22 m

(E) Not attempted

type extinguishers provide its
own pressure for discharge from the
storage container.
(A) Water

(C) DCP

(E) Not attempted

(B) Foam
(D) CO,

In method crews construct a
fireline at some distance from the edge
of the fire.

(A) Prescribed burn

(B) Pre-fire planning

(C) Penciling

(D) Parallel attack -
(E) Not attempted F;E%{id

What does E-R stands for in the E-R
model of database design ?

(A) Entity-Relationship

(B) Error-Resolution

(C) Event-Response

(D) Efficiency-Robustness

(E) Not attempted

Identify the reaction order of the
following rate constant.

k =2.3x10"° L mol-ls1,

(A) Second order

(B) Zero order

(C) First order

(D) Third order

(E) Not attempted

p "HaryanadJobs.in"

CG - FO23
w iR o @R Al s s
HHAA _ Fers ah & IEfa
HiSIGR
M4 18 m (B) 20 m
(C) 25 m 22 m
(E) 3TaTiya
31. TR & AR HERT e
§ fidg & fore 31 gme e & 2 |
(A) W (B) &
(C) DCP 4By CO,
(E) 3TSRTRIa
32. forter o wheffeet o & o @ 9o
ot W e 31 W@ i e §
(Aa) Feifa sen
(B) 7o 31fH ST
(C) uffem
(D] YU 310
(E) TR
33. EREH &I % E-R #fee § E-R & I
7 g ?
(B) TR-T@IEA Bl
(C) T g
(D) TR -Taeea
(E) TSR
("34)) Frffan o Fris w1 s 5 B
T W |
k =2.3x10"° L mol-ls!.
(a) ffmwr W
(B) ¥ y
(@) oW sy 9.3 X0
(D) it 56w
(E) 3TSRied
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CG - F023
For what purpose are antipyretic 35. uRurEdes siuRml &I =T 5 o &
medicines used ? f7u fopar Sran % 2

(A) Medicines for blood cancer (A) T e % T g

(B) Medicines reduces fever (B) E‘cﬂQ TER F il %

(C) Medicines for body relief W ) Td 2 Tl <9

(D) None of these (D) T8 ¥ IS T8

(E) Not attempted (E) T9Tiaa

Latent heat is measured in 36. 3STH ST Hi T HqT SaT @ |

(A) Ampere (A) THRR

(B) Meter (B) HieX

(C) Grams (C) U™

(D) Joules per unit mass /(91/ et wfd gfve wrE

(E) Not attempted (E) 3TRIiéa

In systemintermediate pumps | 37. SO § Sewfifeue vt w1 syl

are arranged to be kept between the 77 3R M F W @Y S syaer

supply pump and the fire. A 2]

(A) open circuit (A) 3T ofke

(B) closed circuit W af¥e

(C) truck relay (C) T T

(D) turn table relay (D) o T T

(E) Not attempted (E) 3Tt

The color code for 93°C bulb type 38. 93°C Toq 2rRY fBihert % I el g

sprinkler is 7

(A) Orange (B) Green (A) Tt x (B) & %

(C) Red (D) Yellow y/wa (D) die al

(E) Not attempted (E) STSRITTHA

Expand NBC, 39. NBC (THeRft) o1 foear |

(A) National Bureau Code ){ﬁw = BiS

(B) New Business Code (B) 4 forstw wig

(C) Natural Bacterial Concentration (C) IR FFINA HIEEH

(D) National Building Code __(D)- e ferfeen mg_gﬁé

(E) Not attempted (E) TR }éﬁi‘%
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o
40.

Which of the safety requirement is not
correct in the event of total flooding ?

(A) Provide adequate lighting with
directional signs

(B) Warningsignsshould bepositioned
inside of the protected area

(C) The alarms should activate a few
minutes before the operation

(D) CO, installed in explosive areas

should be provided with metal
nozzles

miEd|
L
e 2l

3

(E) Not attempted

Ultraviolet detectors work with
wavelengths shorter than

(A) 100 (B) 50

(C) 200 (D) 300

(E) Not attempted |

42. A

__ is adevice that connects two
LANs or two segments of the same LAN.
(A) Hub (B) Switch
(C) Router (D) Bridge
(E) Not attempted

43. Haryana government notified Punjabi

as the State’s second language in

(A) 1947 (B) 1968

(C) 1966 (D) 2010

(E) Not attempted

44. When is the World Homeopathy Day
observed ?
(A) March 11

(B) April 11
(C) March 10

(D) April 10

CG - FO23

40. Tl A1G i Feufer o - GL&T ATehang

(E) Not attempted

e TRl B 7
(A) TesTTenes Hehdl % H1Y T eI
AT Hi
(B) =HdTaH Hohd HXferd &1 o 37t e
BT =M
(C) ATRIF | B e Tgat 3/ Tfha
&l T =Y
Dy Frewies &t # wifia co, i wig
o IS % T Ve Tk St =y
(E) TSR
41. T feeaex nm & A
TS % A1 HH F@ B |
100 (B) 50
(C) 200 (D) 300
(E) TS
42. _ U% ITHUT R S Qo (LAN) T
Teh & o (LAN) % < @sl =) 9sdT 2 |
\(AT & (B) T
(©) X D) sfgsr  2ER
(E) mmﬁm DR RS
43. BRI TWHR I GSreh @ g il fed
W1 % &9 H AAfgfa ERERIN
(A) 1947 (B) 1968
(C) 1966 Dy 2010
(E) 3Tsrnféa
6;. farga Bftteft feam s wamm ST 2 7
- w{um?f (B) 11 3T
(C) 10 W= (D) 10 3T
(E) I
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(=

5. Foamis produced by mixing foam

concentrate with
(A) CO,

E‘ L (B) Powder

'e:da“
-"' (C) Water

(D) Oils
(E) Not attempted

46. Which of the following pairs of physical

quantities may be represented in the
same unit ?

(A) Heat and temperature

(B) Heat and work

(C) Temperature and mole

(D) Specific heat and heat

(E) Not attempted

47. Flame cutting equipment work with
the combination of acetylene gases
and

(A) Oxygen

(B) Oil

(C) Fluids

(D) Water

(E) Not attempted

48. AsperTACwaterstoragerecommended

for ordinary hazard industry is

(A) Not less than 1 hour aggregate
pumping capacity

(B) Not less than 3 hours aggregate
pumping capacity

(C) Not less than 2 hours aggregate
pumping capacity

(D) Not less than 4 hours aggregate
pumping capacity

(E) Not attempted

-11-
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45. T 1 3T B HIGLE B %
a1 firerreRt fepa Tt 21
sy CO,
(B) UL
(C) uTt
(D) o«
(E) ST

46. frefciaa & & wifyes wmEnst &1 HE-T
I THM Sh1S | ST S dehdl & 7

AT T 3R A
(B) T 3R %1
(C) T 3R O
(D) Tofere e 3fic oo
(E) STSmfee
47. TR HEN g et At o
% GANH % 91y 1 B9 B
AT ST
(B) a1
(C) s g; 0
(D) 9 EER
(E) TSRy
48. TAC % Siga, wemon g a1t e
fere St e B R
et @ |
(A) 1EE Q by Iufedre wifti amar
JUE HE A w IufRm qitiT e e
(C) 268 8 W ufeye dftin & 7
(1) 4 €3 A w1 Iufedya vl &mar g
(15) stsrnfEe
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49. Which of the following is active fire 49. fr=fafaa o | $i-E1 Gishd AM e

protection system ? ol @ 7
d ;
(A) gi)r:r;esmtance rate Walls and (A) 3T iy B dar 3 ot
(B) Manual or automatic fire ;‘ o B Hg3Tet A1 Tt AT T Tl T
detection S (C) 3T et bl HH BT

(C) Minimizing ignition sources o
(D) Emergency evacuations (D)
(E) Not attempted (E) TSR

50. Maratha ruler Tantia Tope had built a | 50. W31 ATH T 219 SRATON & 369 wH
fort at this place of Haryana T TF Tohetl samn
(A) Mahendragarh A TR
(B) Narwana (B) @M1
(C) Bhiwani (C) T
(D) Jind (D) i
(E) Not attempted (E) ST

| 51. The simplified form of 51. it+in*1+in+2 4 jn+ 3o TeAihd T 3
Ny in+in+l+in+2+in+SiS (A) 0 (B) 1 ( nlr\J

() o (B) -1 e
© 1 D i A 1 AT
(E) Not attempted s (B) TSR

52. In SQL (Structured Query Language) | 52. SQL¥ (F#ag Rar oaw) TH

is simply the average of mwwww SR |

numeric values of an attribute.

(A) Mode (A) Feer
(B) Median RS

(C) Mean E (C) "rEx
mg‘:.ﬁi ¢
(D) None of the above (D) Iug H & I Ty
(E) Not attempted (E) TSR
53. CABA stands for 53. CABA %1 31 3
Compressed Air Breathing “ .
Apparatus (A) HIES T s e
(B) Compelled Air Breathing . S T SR
Apparatus (B) HIeTTS Y3 Qﬁiaa
(C) Compared Air Breathing (C) ?ﬂ;ﬁaﬁg U3 sfifd TReH
Apparatus .
(D) Compelled Air Blood Apparatus (D) ﬁl TS UIN T8 T
(E) Not attempted (E) STSmRra

C . -12-
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56.

57.

58.
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What is the temperature of orange
colour bulb type sprinklers ?

(A) 57°C (B) 79°C

(C) 68°C (D) 93°C

(E) Not attempted

Normal body temperature of human

body is
(A) 39°C (B) 37°C
(C) 35°C (D) 38°C

(E) Not attempted

The energy possessed due to the
motion of an object is called EIF

(A) Potential energy GfE3es
(B) Kinetic energy

(C) Thermal energy

(D) Power

(E) Not attempted

Water boils at at atmospheric

pressure.

A) 0°C B) 35°C
(

(C) 86°C (D) 100°C

(E) Not attempted

Water spray cannot be used on
fire.
) Class A

(A
(B) Combustible solids
(C) Wood, paper

(D

) Class C
(E) Not attempted

-13-
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54, FRGT T1 % wed <39 IR H AR
fopam graT @ 7
(A) 57°C /LBI 79°C
(C) 68°C ) 93°C
(E) TSR

55. HMEE IR T GH IR d99H

_ Ba®|
(A) 39°C 1Bf 37°C
(C) 35°C (D) 38°C

(E) STSaTied

56. Tl 9% 1 TRy F HRoT B Gl ST B

671 AT 2|
(A) FHTRIT FHel
By T et
C) qIT et
(D) wIfea

E:E (B) TSETRa

A

57. UMl
(A) 0°C
(C) 86°C

(E) -3TSmfRyg

ATgHEE gre T I B
(B) 35°C

__(py100°C

58. U % B w1 W
TRt ST Ty 2
(A) T A
(B) SERAT 3
(C) TR, HITS
/ua{enfc

T W 81

(E) _mﬁm
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Which of the following is not a method
of heat transmission ?

(A) Radiation

(B) Conduction
(C) Convection
(D) Explosion

(E) Not attempted

In the delugesystems _____ type of
sprinklers installed.

(A) closed

B) pressure @’E@‘
) » o
(C) open

(D) plastic
(E) Not attempted

What is the primary advantage of
parallel processing ?

(A) Reduced power consumption

(B) Increased processing speed

(C) Lower cost

(D) Improved software compatibility
(E) Not attempted

According to the 2011 census report,
which State recorded highest density
of population in India ?

(A) West Bengal

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

(E) Not attempted

What will come in the place of question
mark ?

W -144,7?,5-100,Q-81, O - 64
(A) U-121 (B) V-121

(C) U-122 (D) V-128

(E) Not attempted

-14-
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59. frfafad § @ S-91 AT =10 &y
st T B 7

60. I YUMCRI A ___ TR & BwR
M T F |
(A) sig fepam gam
(B) &
(C) Eetl
- (D) R
(E) 3TSRImtad

R NAR 1 TAfE o o g ?
Ay H fooredt 61 @ud

(B) wafip i 1fa 7 Ifg

(C) =9 AT

(D) ST HiTFeATR TTaam

(E) TSR

61.

2.) 2011 6 SFFOMAT WAL & FATER 9IRa §
Geifeeh SHERET ¥ o7 To9 HH-a1 8 ?

(A) ufEm s
ABJ W T
(©) fomr—
(D)
(E) TSR
63. T N8 & TIH W 1 3R ?
W - 144,?,S-100, Q - 81, O — 64
AT-121 . (B) V-121
(C) U-122 (D) V-128
(E) TSRt
eI S SR N PR
A G O A Y A /A

92V w U g,{aﬂc{/\{-\{

Dlavay >3 5’ A2y pore

by
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In the Manual fire alarm system, which
of the following is manual system of
raising alarm ?

(A) Rotary gongs

(B) Sprinklers

(C) Detectors

(D) Fire suppression
(E) Not attempted

is the transfer of heat by
moving particles of liquids or gases.

(A) Conduction
(B) Convection
(C) Uninhibition
(D) Inhibition

(E) Not attempted

As per National Building Code of India
buildings are categorized under
Group H of occupancy.

(A) Educational

(B) Storage

(C) Industrial
DA

b e
e

R

(D) Residential
(E) Not attempted

Area from which escape is possible in
one direction only is

(A) exit point

(B) assembly

(C) dead end

(D) riser

(E) Not attempted

-15-
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64. et wR e foreed e
ﬁq_mmﬁﬁaﬁlﬁﬁﬁﬂmm%?
(&) Tt "fgara
__(By Toewm
(C) feewax
(D) 3TRT gu
(E) ST9a

65. T a1 Gl % qiaHE HON GRI
ST o1 TR 2
(A) HERHE

@}ﬁ@ (C) TRl

sl (D) R

......

(E). 3T=TRYa

66. v fifeen we e sRear F FTER
_ SURG Megdet % g9 H % SFard
T 7
(A) Therares

. ‘
(C) Sfrenfies
(D) JETET ¥
(E) TS

67. T &3 @ Had T ey § w1 999 2,
o 8
At T faig
(B) IrdscAl
(C) S8 T3
(D) T
(E) TR




68.

69.

70.

72.

e 4

Join Telegram Group "

In Python function returns

an integer that specifies the current
position of the file object in the file.

(A) seek() (B) tell()
(C) read() (D) write()
(E) Not attempted

If | x-2|<1,then

(A) xe(-1, 3)
(B) xe[-1, 3)
(C) xe(1, 3) SR
(D) xel1, 3] eSS

(E) Not attempted

According to the 2011 census report,

the women literacy rate in India is
(A) 74.3% (B) 75.4%

(C) 82.14% (D) 65.46%

(E) Not attempted

TAC stands for

(A) Traffic Access Control

(B) Traffic Advance Committee
(C) Tariff Advance Committee
(D) Tariff Advisory Committee
(E) Not attempted

system provides protection for
buildings from internal fire.
(A) Drencher ‘

(B) Sprinkler

(C) CO,

(D) Hydrant

(E) Not attempted
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CG - FO23
68. TEYTH HER Teh QU1 <al
B N TR § HIEA Msoiere ht TEqa et
%! fifése a2 |
(A) seek() (B) tell()
(C) read() P write()
(E) SToRIRIa ’

69. AT |x-2(<18,

(A) xe(-1,3) 2> =
c/&el—lﬁ) T

© xe(1,3) B >
(D) xe[l, 3] /)
(E) T9TRIa

70. 2011 H FET Rl & IFER 9Ra §
Hfger wnerar ¢ fhaft & 2
EEEE () 74.3% (B) 75.4%

i (C) 82.14% X (/@45.”46%

(E) TSR

71. TAC <l Hdoid

(4) b THEE Fe
(B) $i%eh 3TEATH wHife
Jreaa Hinfe

(DY 3w srgamsai witfe
(E) TRnfa

H

72. JUeHl 3TN 3T & SARG
L& Y& et B
(4) $H
/m(@w
(C) CO,
(D) EEgE
(E) 3T9amRia



74.

75.

76.

77.
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Chermical formula for oxygen is
(A) O, (B) CO
(C) CO, (D) H
(E) Not attempted

2

Which of the following is type of
synthetic rope ?

(A) Manila

(B) Nylon

(C) Cotton

(D) Sisal

(E) Not attempted

A vertical pipe installed in a building
for fire-fighting purposes, that is
permanently charged with water is
(A) Wet rising main

(B) Total flooding s St
(C) Dry rising main

(D) Local application

(E) Not attempted

AR — AFFF used on fuel fires containing

(A) Wood (B) Metal
(C) Electrical (D) Alcohol

(E) Not attempted

Full form of MCR is

(A) Miner Control Board

(B) Miniature Control Breaker
(C) Miniature Circuit Board
(D) Miniature Circuit Breaker

(£) Not attempted
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74. Tr=fafaa 4 @ - GAfes w=f =

THR B ?
(A) THTAT
(B)/m/zmﬁ
/
(C) HuTg
(D) HTZHA
(E) 3T9amfad
75. HAfEwmA 32w & fOQ 0 sara o werfig
T Tgad U1y I gl 9 @Rl ®9 9 9ef
AR, TE_ FarR
) o Wl o9
(B) et 1@
(C) T8 WS o9
(D) TR AT
(E) 3TS=Ta
76. AR-AP?FC‘F%mWwﬁWW
3,3 dare
() THST ~ (B) urg
(C) forga ~ STehIETd
(E) TR AT
77. MCB®H U &9 3
(A) TR FHJet S
(B) TR it S
(€) TR afe 91
WWW
(E)aTSIEITﬁRr

CG - F0O23
N T TEENS g R
y?oz (B) CO
(C) CO, (D) H,




78.

79.

80.

81.

82.
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When any building is used for more

than one type of occupancy is called
s bt

CG - FO23

78. & fopell SARG &1 ITAT TH © I
YR S TR % fu fom StTan 8, @ 39

(A) Mixed occupancy _____FE IR
(B) Light hazard occupancy ad
(B) Tl Gall TSR
() Hazardoys oocupancy (C) TEATH AT
(D) Storage buildings (D) SRl 3ARA
(E) Not attempted (E) AR
The temperature at which a liquid 79. o8 AUAM R W $Ig T ITarar 8 3N
boils and becomes a vapour is the EISRCERSIKI %, g ___ ®Barzl
(A) Melting point (A) AT
(B) Boiling point _((Br FILTH
(C) Freezing point ORELIED
: D)
(D) Density r’iﬂ»} (D) RS
(E) Not attempted L (E) AS=ia
A modem’s transmission speed (the rate | 80, u® HieH Hi F=wwr g (P @ W =8 3@
at which it can send data) is measured in ) gohdl %) 5l T 79T ST 8 |
(A) Hertz A) TS
(B) Bytes (B) S13¢H
(C) Bits per second (bps) it ¥ (bps)
(D) Watts (D) 9@
(E) Not attempted (E) 3ot
Which number will come in the place A ﬁ—.r@.' ERSIC} R HH-H wE I ?
of question mark ? w =N
(A) 391 (B) 481 (A) 391 (B) 81 Sy
(©) 421 (D) 511 (C) 421 p@u
(E) Not attempted (E) TSRy
Utility rope for raising or lowering 82. TN TS % A ed H FW M
mOvVINg parts of extensjon ladder is I = FH H ﬁﬂq ?ﬂﬁ:ﬁ?ﬂ 9 ?n‘lf
alled ]
c eH N 5%&’? gl T R |
(A) Hardline (B) yalyard @ REs (g geEs
(C) Wirerope (D) pyjer (C) TR ey o
(E) Not attempteq (B) 3fég
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Foam extinguisher can either gas
cartridge type or type
(A) Stored pressure

(B) Chemical pressure

(C) Cylinder pressure

(D) Hydraulic pressure

(E) Not attempted

19.5% oxygen level is considered as a
condition.

(A) Enriched

(B) Fainting

(C) Normal

(D) Minimum safe

(E) Not attempted

35. Inthe wet riser system, size of the vertical

pipe should not be less than mm
internal diameter.

(A) 65 mm

(B) 100 mm

(C) 50 mm

(D) 74 mm

(E) Not attempted

86. What is the full form of TEC ?

(A) Typical Environment Control
(B) Ternary Eutectic Chloride

(C) Tender Equipment Commission
(D) None of these

(E) Not attempted

S
\'.l;IIi-_:
R

=]

]

87. Volts = Amps X
(A) Ohms
(C) Watts
(E) Not attempted

M Resistance

(D) Voltage
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83. B 3TN g aTeI AT Al T B TR
Bl b T B ThdT Bl
(A) "ufed quTe
Wm
) Taferet gaa
D) EESifeieh qaTd

(E) A9=miEra

84. 19.5% TS &L i

HHET ST 2

85. ¢ Wst ey & affewper gy &1 BN
X/mmaﬁhm@rwq—é@maﬁql
65 mm 4.5

100 mim \‘\ e
50mm 2~

86. TEC (Ise) %1 1of wq oy g7 2 7
(A) 2TRITRST TS Shater
(B) zﬁﬁagf%?ea;ﬂw‘wﬁrlsg




88.

89.

92.
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Sparge pipe is useful to protect

(A) Engine from heating

(B) Tyres from ground fire to water
the road ,

(C) Vehicle from radiant heat

(D) Hoses from damaging

(E) Not attempted

Fire involving combustible metals are

classified as a class fire.
(A) A B) C
(C) B (D) D

(E) Not attempted

Hydrostatic pressure testing is required
for water extinguishers in every
years.

A) 3
(C) S
(E) Not attempted

(B) 8
(D) 10

What is the purpose of system
software ?

(A) To create documents and
presentations

(B) To browse the internet and
access web content

(C) To manage the computer’s
hardware resources

(D) To edit photos and graphics
(E) Not attempted

This lake is also called as Ottu reservoir
(A) Sukhna lake e

(B) Jui canal ;&3}:
(C) Dhanur lake al

(D) Diwanawala lake

(E) Not attempteq

"N

CG - FO23
88, TG UIEY _______ h gIEm % U
Iqarft Bl
(A) gifém & 559
(B) Tgeh W HT & foru sefift 31T & eRR
(C) Mede &e & e
/Mzﬁéqﬁ@ma‘@ﬁﬁ
(E) STSTRd
89. SIS 93T & et AT H Joft
3T % €9 § affepd foRaT ST B
(A) A B) C
©B _(¥D
(E) TSR
90. TS Nt H Sl SAES &
e eefes cam wligmr < sTawEsd
Bt &
A3 B) 8
- () 5 (D) 10
1%’5 (E) STSRITRa
91. ToR=H HFeaTR & HT 3T B 7
(A) ST 3R TRl s & forg
(B) 3T T@H 3R 99 e a%h ga b
fog
Waﬁméﬂmﬁww‘mﬁ
% g
(D) ®IEI TR ITfheh & wiee & fog
(E) TSR
92. 39 Sfiet ! g Teme off wad 8
(A) TG 3 R
(B) I et
(C) & st
D] e e
(E) STSRImya
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is a composite gland
11ch acts as both exocrine and
1docrine gland.

\) Adrenal gland

B) Thymus

(C) Pancreas

(D) Parathyroid gland
(E) Not attempted

is formed when immiscible
liquids are agitated together and one
of the liquids is dispersed throughout
the other.
(A) Dilution
(B) Smothering
(C) Emulsion
(D) Atmospheric pressure
(E) Not attempted

Fire buckets are painted with
color.

(A) Bright Red

(B) Wooden

(C) Steel

(D) Maroon

(E) Not attempted

A route forming part of the means of
escape from any point in a building to
a final exit is called

(A) Fire door

(B) Fire lifts

(C) Fire exit

(D) Escape route

(E) Not attempted
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HEE

w
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93.

94.

95.

CG - FO23

- —
= =

o ~1

ws Ffires A1
Tl 2 |
(A) Thger Tf
(B) ¥TEHE
HHERI
(D) TrURRIsE Ty
(E) T9aTd

9 9d1 @ 99 37yl @i T
T AR B § 3w et g # e
ST 2 |

(A) STEegyH

45 iR

(C) THeRH

(D) sgHe eara
(E) 3T

3T i Fifeedt w1 T T SI0ET |

Pk A

]

[E

L

96.

(B) ket
(C) €=
(D) #&

(E) ITSmirg

U HRA F fereht oft fog & sifim foeerel a0
he % wem @ fagy w3 & 90 Bl
HE ST B |

(A) BRR ER

(B) BRR foree
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97. A pre-mixed foam installation storage
tank designed for maximum working
pressure of
(A) 10 bars /o
(B) 12 bars Q?;

(C) 7 bars C)
(D) 20 bars
(E) Not attempted

Which type of fire extinguisher must
not be used in case of electrical fire ?

(A) Dry powder extinguisher
(B) CO, extinguisher

(C) Foam extinguisher

(D) FM 200 extinguisher

(E) Not attempted

99. Which of the following is a common
type of auxiliary memory ?

(A) Cache memory
(B) Solid State Drive (SSD)
(C) Random Access Memory (RAM)
(D) Magnetic tape
% -l':.[']
"ﬁic:..
Dainik Haribhoomi is the 15t National
Newspaper published from
district of Haryana.
(A) Hisar
(B) Gurugram

ith
(D) Ka:;ta:tlem ted

(E) Not attempted

100.

CG - FO23

@ & 3Rrehan &1 HI TEE & fog
IR BRY & feurs @ fi-fiags
B TRt TR |
(A) 10 SR
12 R
(C) 79K
(D) 20 ¥R
(B) 3

98. fuwiell @ 3 o <hi fufy & fopm s &
TR 6T FE TE HE =R ?
AT I IS 3 e e
(B) CO, 3T YW el
(C) P 3T T Tl
(D) FM 200 3T 93 el
(E) TSR

90, frafufad 3 & - TerrE 3G 5
Teh I TR & 7
(A) 5 A
(B) HifeTe w2 g1 (SSD)
ey Ten v W (Ram) N
(D) e 39 S
(E) 3R

100. SR ERYM 3 femert e wom
TS GH=RTS 7 |
(a) fewm
(B) eI
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